SPCS

Form 4 Principles of Accounts

Notes on Chapter 20 – Part III

Accounting Entries for Depreciation of Fixed Assets
More examples

Example 2
In a business with financial year ended 31 December, a machine was bought for $2,000 on 1 January 2005.  It has been depreciated at a rate of 20% using the reducing balance method.  The records for the first three years are now shown below:

	Machinery

	2005

1 Jan
	Bank
	$

2,000
	2005

31 Dec
	Balance c/f
	$

2,000

	
	
	2,000
	
	
	2,000

	2006

1 Jan
	Balance b/f
	2,000
	2006

31 Dec
	Balance c/f
	2,000

	
	
	2,000
	
	
	2,000

	2007

1 Jan
	Balance b/f
	2,000
	2007

31 Dec
	Balance c/f
	2,000

	
	
	2,000
	
	
	2,000

	2008

1 Jan
	Balance b/f
	2,000
	
	
	


	Provision for depreciation

	2005

31 Dec
	Balance c/f
	$

400
	2005

31 Dec
	Profit & Loss account
	$

400

	
	
	400
	
	
	400

	2006

31 Dec
	Balance c/f
	720
	2006

1 Jan
	Balance b/f
	400

	
	
	
	31 Dec 
	Profit and Loss account
	320

	
	
	720
	
	
	720

	2007

31 Dec
	Balance c/f
	976
	2007

1 Jan
	Balance b/f
	720

	
	
	
	31 Dec
	Profit and Loss account
	256

	
	
	976
	
	
	976

	
	
	
	
	
	


	Balance Sheet (extract)

	As at 31 Dec. 2005
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery (at cost)
	2,000
	
	
	
	

	Less: Provision for Depreciation
	400
	1,600
	
	
	

	
	
	
	
	
	

	As at 31 Dec 2006
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery (at cost)
	2,000
	
	
	
	

	Less: Provision for depreciation
	720
	1,280
	
	
	

	
	
	
	
	
	

	As at 31 Dec 2007
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Machinery (at cost)
	2,000
	
	
	
	

	Less: Provision for depreciation
	976
	1,024
	
	
	

	
	
	
	
	
	


The terms ‘aggregate depreciation’ and ‘net book value (NBV)’ are often used.  What they mean in the above example is shown below:

	
	31 Dec. 2005
	31 Dec. 2006
	31 Dec. 2007

	
	$
	$
	$

	Machinery at cost
	2,000
	2,000
	2,000

	Less: Aggregate depreciation
	400
	720
	976

	Net book value
	1,600
	1,280
	1,024


New Terms:

Aggregate depreciation / Accumulated depreciation 

- The total amount of depreciation written off a fixed asset up to a specific time.

Net book value (NBV)

- The cost or valuation of a fixed asset less accumulated depreciation.

Example 3
In a business with financial year ended 30 June.  A motor lorry was bought on 1 July 2001 for $8,000.  Another motor lorry was bought on 1 July 2002 for $11,000.  Each lorry is expected to be in use for 5 years, and the disposal value of the first lorry is expected to be $500 and the second lorry is expected to fetch $1,000 disposal value.  The method of depreciation to be used is the straight-line method.   The first two years’ accounts are shown.

	Motor Lorries

	2001

1 Jul
	Bank
	$

8,000
	2002

30 Jun
	Balance c/f
	$

8,000

	
	
	8,000
	
	
	8,000

	2002

1 Jul
	Balance b/f
	8,000
	2003

30 Jun
	Balance c/f
	19,000

	1 Jul
	Bank
	11,000
	
	
	

	
	
	19,000
	
	
	19,000

	2003

1 Jul
	Balance b/f
	19,000
	
	
	

	
	
	
	
	
	


	Provision for Depreciation – Motor Lorries

	2002

30 Jun
	Balance c/f
	$

1,500
	2002

30 Jun
	Profit & Loss account

($8,000 - $500) / 5
	$

1,500

	
	
	1,500
	
	
	1,500

	2003

30 Jun
	Balance c/f
	5,000
	2002

1 Jul
	Balance b/f
	1,500

	
	
	
	2003

30 Jun 
	Profit and Loss account

$1,500 + ($11,000 - $1,000) / 5
	3,500

	
	
	5,000
	
	
	5,000

	
	
	
	2003

1 Jul
	Balance b/f
	5,000

	
	
	
	
	
	


	Profit and Loss Account for the year ended 30 June  (extracts)

	
	
	$
	
	
	

	2002
	
	
	
	
	

	Provision for depreciation
	
	1,500
	
	
	

	
	
	
	
	
	

	2003
	
	
	
	
	

	Provision for depreciation
	
	3,500
	
	
	

	
	
	
	
	
	


	Balance Sheet as at 30 June (extracts)

	As at 30 Jun. 2002
	$
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Motor lorries (at cost)
	
	8,000
	
	
	

	Less: Accumulated depreciation
	
	1,500
	
	
	

	Net book value
	
	6,500
	
	
	

	
	
	
	
	
	

	As at 30 Jun. 2003
	
	$
	
	
	

	Fixed Assets
	
	
	
	
	

	Motor lorries (at cost)
	
	19,000
	
	
	

	Less: Accumulated depreciation
	
	5,000
	
	
	

	Net book value
	
	14,000
	
	
	

	
	
	
	
	
	


20.2 Disposal of an asset / sale of an asset

Upon the sale of an asset, we will want to delete it from our accounts.  This means that the cost of that asset needs to be taken out of the asset account.  In addition, the depreciation of the sold asset will have to be taken out of the depreciation provision.

When we dispose of an asset, the cash received for it is usually different from our original guess.  Therefore, the profit or loss on sale, if any, will have to be calculated.  For instance, let us assume the sale of machinery.

Accounting entries needed:

	(A) Transfer the cost price of the asset sold to an assets disposal account (e.g. Machinery Disposals account)
	Debit: Machinery Disposals account

Credit: Machinery account

	(B) Transfer the depreciation already charged to the assets disposals account
	Debit: Provision for Depreciation – Machinery account

Credit: Machinery Disposals account

	(C) For remittance received on disposal
	Debit: Cash / Bank account

Credit: Machinery Disposals account

	(D) Transfer the difference (amount needed to balance the account)

(i) If the Machinery Disposals account shows a CREDIT balance, it is a profit on sale, or

(ii) If the Machinery Disposals account shows a DEBIT balance, it is a loss on sale.


	Debit: Machinery Disposals account

Credit: Profit and Loss account

Debit: Profit and Loss account

Credit: Machinery Disposals account


Example 4a
We can look at what would happen if the machine shown in Example 1 was sold in 2008.  To 31 December 2007, it was shown as having cost $2,000 and $976 had been written off for depreciation.  Assume that on 2 January 2008, the machine was sold for $1,070.  The accounting entries will be shown below:

	Machinery

	2008

1 Jan
	Balance b/f
	$

2,000
	2008

2 Jan
	Machinery Disposals
	$

2,000

	
	
	2,000
	
	
	2,000

	
	
	
	
	
	


	Provision for Depreciation – Machinery

	2008

2 Jan
	Machinery Disposals
	$

976
	2008

1 Jan
	Balance b/f
	$

976

	
	
	976
	
	
	976

	
	
	
	
	
	


	Machinery Disposals

	2008

2 Jan
	Machinery
	$

2,000
	2008

2 Jan
	Provision for depreciation
	$

976

	31 Dec.
	Profit and Loss account
	46
	2 Jan
	Cash / Bank
	1,070

	
	
	2.046
	
	
	2,046

	
	
	
	
	
	


	Profit and Loss Account for the year ended 31 Dec.  (extract)

	
	
	$
	
	
	$

	
	
	
	Profit on sale of machinery
	46

	
	
	
	
	
	


Similarly, if the machine was sold on 2 January 2008 for $950, the accounting entries will be shown below:

	Machinery

	2008

1 Jan
	Balance b/f
	$

2,000
	2008

2 Jan
	Machinery Disposals
	$

2,000

	
	
	2,000
	
	
	2,000

	
	
	
	
	
	


	Provision for Depreciation – Machinery

	2008

2 Jan
	Machinery Disposals
	$

976
	2008

1 Jan
	Balance b/f
	$

976

	
	
	976
	
	
	976

	
	
	
	
	
	


	Machinery Disposals

	2008

2 Jan
	Machinery
	$

2,000
	2008

2 Jan
	Provision for depreciation
	$

976

	
	
	
	2 Jan
	Cash / Bank
	950

	
	
	
	31 Dec
	Profit and Loss account
	74

	
	
	2.000
	
	
	2,000

	
	
	
	
	
	


	Profit and Loss Account for the year ended 31 Dec.  (extract)

	
	
	$
	
	
	$

	Loss on sale of machinery
	
	74
	
	

	
	
	
	
	
	


20.4 Exercise A

On 1 January 2002, which was the first day of a financial year, T. Young bought a computer $9,500.  It is to be depreciated straight line at the rate of 20%, ignoring salvage value.  On 1 January 2005 the computer was sold for $4,250.

Show the following for the complete period of ownership.

(i) The computer account

(ii) The provision for depreciation

(iii) The extracts from profit and loss accounts for four years

(iv) The extracts from three years’ balance sheets

(v) The computer disposal account

Exercise B

C. Wing, an exporter, bought a new motor lorry for his business on1 January 2002 for $12,500.  He decided to write off depreciation at the rate of 20%, using the reducing balance method.

Show the following for each of the financial years ended 31 December 2002, 2003 and 2004, using the depreciation provision account method.

(i) Motor vehicles account

(ii) Provision for depreciation account

(iii) Extracts from the profit and loss accounts

(iv) Extracts from the balance sheets

Exercise C (HKCEE Principles of Accounts 1992 – Section A)

On 1 February 2005, Longarm Co. bought two personal computers costing $16,000 each to be used by the Marketing and Personnel managers.  On the same day, an electronic typewriter costing $6,000 was purchased for the director’s personal secretary.  The computers were to be depreciated at 20% per annum on a reducing balance basis.  The electronic typewriter, estimated to have a scrap value of $800 and a useful life of four years, was to be depreciated on a straight-line basis.  On 6 March 2007, the Marketing Manager’s computer broke down.  The company sold the computer for $9,000 after spending $3,000 on repairs.  A new one was purchased at a cost of $14,000.

The accounting policy of the company was to charge a full year’s depreciation in the year of purchase and no depreciation in the year of disposal.

Required:

Show the following for each of the years ended 31 December 2005, 2006 and 2007:

(a) The office equipment account

(b) The provision for depreciation account – office equipment

(c) The disposal account – office equipment
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